Module Name : Physics
Exam Date : 13-Feb-2022 Batch : 14:00-17:00

Sr. No. Question Body and Alternatives

If A= Aje; + Ajyey + Asey is a vector function in orthogonal curvilinear coordinates uy, up, us, then :
QEFMEGSH ST CHICHTL(H 6UEMEITEY U WIBISET uy, uy, u3 —6V A = Aje; + Ase, + Azes (0
QeUG LTI FITIL] 6T60T16V

A:ejeoey)=¢;
€1.€6=0C3

B : ep®e3 = 0 — (Correct Alternative)

ey.e3=0
C:e;xe3=0
epxe3=0
D:ejxe;=0
epxep=0

Which one of the following statement is true ?

G L& TSI UTHRIISH 6V 615! &Fifl?

A : Elementary operations do change the rank of the matrix.
FMHITTe0r QFWeVLIT(HISH6T U f6vor1Ul6dT LILg.6mW LOTHmILD

B : Equivalent matrices do not have the same rank.




FLOLOITEOT {60011 &6T 6255 LI enl QUMM BSETSI
C : A matrix and its transpose have the same rank. — (Correct Alternative)

R 3{6ewoflLD 2IS60T BITELHlenM MH M 6t &S LILG6mU 618 Mevor 9. (58 GLD
D : The rank of a non-singular matrix can be altered by premultiplication.

62(H 3| [HBlemeviMm 2jevofludledr Lilgemul (LN6dTELIHE S0 60T eLN6eVLD MMM (LOIQULD
If § = 3xy2- 2x2z, then V¢ at the point (1, 1, 1) is :
¢ = 3xy? - 2x2z eT60fl6V, (1, 1, 1) eTedrm L6iTerludl6 Vo —edr LOGLIL| 6T6oTE0T ?
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The product of the eigen valuesof the mafrix A= |1 2 1]|is:
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The equivalent of Vx (Vx A) is:
Vx(VXxA)-&& FLOLOMTEOTSI :

A:Vx(VxA)=V(V.A)+(V.V)A
Vx(VxA)=V(V.A)+((V.V)A
B:Vx(VxA)=V.(VA)+(V.V)xA
Vx(VxA)=V.(VA)+(V.V)x A
C:Vx(VxA)=Vx(V.A)-V.VA
Vx(VxA)=Vx(V.A)-(V.NA
D:Vx(VxA)=V (V. A)=(V. VA — (Correct Alternative)
Vx(VxA)=V((V.A)-(V.V)A
The number of deaths in one year by a rare disease is an example of distribution.

([ Sl CHITWITEL @ UL G H 60 @MLILI6UFS6r 6o eTetorevot]den
LIT6USI & & M6 6T(HNSHSISHSHTL (.

A : Normal
SMT&ITT600T
B : Binomial

(B! L
C : Discrete




LNl Blemev

D : Poisson — (Correct Alternative)

LIIT U 6rv meor

Which is not the special case for probable error of a function ?
THS QFWELUIMTL Q60T FMEHEHWLDmeT LNemLp& & meoT FIMmLIL] 6ULD&E {606V ?

A:R=X+tY
R=X+Y
B:R=XY
R=XY
C:R=X/Y
R=X/Y
D : R =a* (bX)— (Correct Alternative)
R =a* (bX)

The Binomial theorem states that :

FGOILIL GS MMM TSI :

A N
+af ™= 3 ¢, p* "
x=0

N
pP+alN= ¥ C, p* g

x=0
B: , N "
(P+qf'= 3 NC, p*q*
x=0
1 A N
(P+al = D NC, p g *

x=0
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" p+ght! = ZC p* g—*
x=0

(p+qgft!= ZC p* gh—*

=10
D: N
P+al'= > NC,p* g
x=0 — (Correct Alternative)
N x N—x
+al'= X NCp*q
x=0

To have a sum of 5 as a compound event, how many elementary events, it should consists of :

Fo.l_ () BIHLLANN6, 5 -3 Fo(HFEVITE QSTETEUSHM S, 6T5FHEME0T 34, LDLI [H&HLD6Y & 606l
Q& meTeT Gauevor(hD ?

A : 4 —(Correct Alternative)
4 9. ligmeli
B:5
5 @GI.I 6IT(IH
C:6
6
D:3
3

A bag contains 4 white and 2 black balls. Another bag contains 3 white and 5
black balls if one ball is drawn from each bag, the probability that both are
white is :

4W|[ [3W
2B | |5B




@@ souilled 4 Qeucitenet Him LMHMID 2 SEHUL] BN UHSISEHLD 2 6Tereor.
WHMID €@ souLilsd 3 Cleustenen HM WMHMID 5 &@HULY BN UHSISHEHLD
2 giener.  @usioi(y eOLINOBHSHID Heom M UL THEHHTL HG
Quysin(® Libg)&EnLd Cleuetsnen HiMLoms GpLUUSHST6T Hl&S 86, :

4W
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A 1
24
1
24
B: 1
4 — (Correct Alternative)
] il l‘i Ih‘T.
4
C: §
99
5
22 ealtlarm wremaaflar e Blismng,
D: 7
24
o,
24
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A man applying for his driver's licence estimates that his chances of passing the

written test are % and his chances of passing the Driving test are % what is the

probability that he passes both tests.
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(e eunsemnd spl_(Bd 2 flenw Qum eNauaINSHTmT],  H6UTTed
36Uy s Gaie GaHIFs Cum % GUMLIOL MWD Si6I] EUNSEUILD
ol (B5e0sL CaTFH Qum %, eumiIay eteifled, Sjeui] @siongeid GCHIFH
QUMEIFDHSTET HBDEHH6| -

A:l
7
d
7
B:1
é _ (Correct Alternative)
1
6
c: 1
3
4
3 :
_ sautlaurm
4
4
4

The lagrangian "L" for a wholly conservative system is defined as :
Q) W(PUSILD HMHSIM6USSHLILIL L 2emL0LIL60T 608 [ meoTe3lWI6oT "L" euem I mILILIS

A :L=T-V —(Correct Alternative)
L=T-V

B:L=2T-V
L=2T-V




C:L=T+V
L=T+V

D:L=2T+V
L=2T+V

The number of independent coordinates required to specify a system of 'N' particles in space is :
SLL Qeuerfluilev 2 6T 'N' &S 6TSH6T Q&MevTL [ 2emnlilemerr GMILILNIHeusnH&S
GHemauL I FTFUMM 2 WIMBISET

A:1N
IN
B:2N
2N
C : 3 N — (Correct Alternative)
3N
D:4N
4N

Hamilton's canonical equations of motion are :
GamLileuL6dT &G60Tmenf18:860 &FL06OTLIM(H) 6T6OTLISI

A:. _oH . _—cH
qizg, piz-\_. .
t “4  _(Correct Alternative)
R L
i m' I 5qi
B: q =-6H p_ =ﬁ
i C“’Di * 5qi
G o~
i d:)l' ' 1 6‘qi
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D:q_ﬂb_a-l
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q_ﬁ G =
oo o

If the Lagrangian of a system 1s not a function of a given Co-ordinate q; then the coordinate q is said to be
cyclic only if .
62 ([H 2J6MLDOLILN 60T 6L ST MEOTESIWIET 62(H GSMILILIL L QWS H 60T qp; QFWevIm(H 606V
GTEOTMDITEV, BHS WD q 6THS ([ BlemeuuileL &PMHFIWINMS @HEHELD ?
A: d _ 0

—(Correct Alternative)
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Principle of virtual work is known as :
LMW GEUEDEVE Q& ITETEM S 6T60TLIS :

A : D'Alembert's principle — (Correct Alternative)
19 SGCDAUTL Q&ITETenS
B : Lagrange's principle
MG TMEHTF) QG&HITETEN S
C : Hamilton principle
ammLAl6LL 65T Q& MeTeN &
D : Newtonian principle
Bl WL GLmeofl Ul 63T 6\ & TEIT60) &

The relation between H and L is :
H-8&@LD L-&@GLD 2_6Tem QST :

A: HZZLi
H=2L

B: H=:Pi_|-'

H=2>FR -\
i
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H= :Di di —L
i — (Correct Alternative)

H=Ypqg —-L

I

D: H=YR-1L

The fermi energy of silver is 5.51 eV. The average energy of the free electrons in silver at 0 K is :
@eueterflulledr QUL QLMHMEL LFLIL] 5.51eV. QeuaTerflulley @ 6Tem &L L MHMm
eTeusL_Fmearaserfledt &rmaFil @Lmmey L Qeuliu mlemeuuilev A5 @ HEHMS!.

A:55eV
5.5¢eV
B : 3.3 eV —(Correct Alternative)
3.3eV
C:27eV
2.7eV
D:2.1eV
2.1eV

In Fermi - Dirac distribution, the relation between heat capacity, C,, and kinetic energy, k of an electron is :

QUILA — emLJ& FLO6TUIML 96V, QeULILI FMHLSHIME0T LoMHmILD @)Ul& 8 3L,MH M6V
6TELE LT TEnI & HemL_GU 2_6T6T Q&ML =

‘oo =3 Nk
2 — (Correct Alternative)

3
C, = = Nk
2
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C\,=%Nk
1

Cy = 5 Nk

C: C\,=%Nk

cv=%Nk

D: c\,:%Nk

CV=%NI<

The correct behaviour of conduction of electrons in a metal can be predict by :

2 _GeVM&H G H60T 6TEVE LT TE0TS: 6Tl 60T & L& 6V & 600TSHH 6m6oT &Il WLIME SO M6OTLD
QEFWeUg :

A : Maxwell -Boltzmann Statistics

LOITE 606161 6L LELITTEVL GV Q1D 6oT L 6iTerflufluieL
B : Bose - Einstein Statistics

@LIMeN — g360T6N L 60T L 6iTerfludlwev
C : Fermi - Dirac Statistics — (Correct Alternative)

Quil — 19ma Lemerfluiluiey
D : Bose - Einstein & Maxwell -Boltzmann Statistics

GLIIT6IV — 8360T6N LR 60T LOMMILD LOMEHENVGI6U6VD — GLIMeVL_6NVGILD60T Lj6erfludluiev
According to Maxwell - Boltzmann Cannonical distribution law, the number of molecules per cell
with energy associated with cell.
GLD&6VGEI6U6L — BLIMLL_6NGILD6DT el Teu6y ellFILILILY (GBS 60TT6T1&56V), 62(IH &HEVEH M S
ELN 6V &5 T M1 55 61T 6T6EUOT600T 185600 85 LI 0TS H6VS5SIL 60T QSTLITL|60)L LI




QLMMEVITGSLD.

A : decreases linearly
CrflemLWIms Gammbal
B : decreases exponentially — (Correct Alternative)
2{Blellleney eTevureuureeyLer &enmBHS!
C : increases linearly

CrflenLWme: H &5

D : increases exponentially

2Ballenrey eTevoTeoTene] L6l S &S5

2 23 The planck theory of black body radiation successfully verified by using one of statistics.

S(HLOUTH6T SHFeidFFer LKermm CHmLlum@® Boeau@mLd LeTerfluilsy
LIwesTLU(H & &16U560T LRV QeummMIsTwms FluTisasluGRng

A : Maxwell -Boltzmann Statistics
GLo& e 6u6v LELITTEOLIEh QInedT Lemerflufiuiey
B : Bose - Einstein Statistics — (Correct Alternative)
GuImen — gedTerv e 60T L6iTerfludluiey
C : Fermi - Dirac Statistics
Quid — g ma LeTerfluilwiev
D : Fermi - Debye Statistics
Quidl — 1gemu Lemerfluflwiev

24 24 Neutrons have :

Blu L gmerserfler — — QUMOMIBEHGLD :
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A : Zero spin angular momentum
&GP SNHFPHF G ITeoor 2_[HS LN
B : Integral spin angular momentum
(LD 6T6voT ML MHEF G MevoT 2_HSLD
C : Half integral spin angular momentum — (Correct Alternative)
Q60T (P LP6TE0IT HMEFLLME) G&sMevor 2_[HFHLD
D : Spin angular momentum equal to h/2n
SH&PMHEF G Teror 2 L0 = h/2n
According to Debye's theory, the specific heat capacity of solids is given by the equation.
19 e IufedT G ML LML LG60TLILG S L LIQLITHeTa6erfl6ir S6oT QeuliLl ML S menfledr LD&LIL

G LD 600TL. FLOGTIITLLLT6L AUPLILGSMS!
A CV = 3NkT

CV: 3NkT
B : Cy = 3Nk — (Correct. Alternative)

Cy =3Nk
C Cv=$
cy = 2%
D: Cv=¥
gy = 20

Which of the following molecule is a non-polar molecule ?
GLDE SITEILD CLP 6V To MIGETI6V 615 (LPEDETEUTEHSLOMM CLOEVE: Fn M) ?
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A :H,0
H,0
B : NH;
NH;
C: HCI

HCI
D : O, — (Correct Alternative)

0,
In a region where there are'no freecharges, the Poisson's Equation reduces to :

LOl6OTERTL_L_MIS6T @)6V6VITs LIFLILN6L, LIMUUSF T &6t UM 67868608 U &FLO60T LML TS
LTS M ?

A : Maxwell's equation
LOM&61616U60 FLO6oT LT
B : Laplace's equation — (Correct Alternative)
GUITLIGVITEN &FLO6OTLIM(H)
C : Lorentz equation
GLITJ6EOTENV &FLOGOTLIT()
D : Faraday's equation
UmyGL &weorUm(h)
The speed of electromagnetic waves in free space using Maxwell's equations is :

LDME&6MVGE6U6D FLO6TLIMH&em6eT LWeTUMSS), L6TSHTHSH 3] 6mevd6rtleir HensFGaussLd
QeaumMIL&H eV :




>

C =
g T 1o
e
g * Mo
B: g, ]
\Eoko — (Correct Alternative)
c=_1
Jeoro
C: o — !80"0
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Poisson equation in e : IoressTuesfier t_uﬂn'!,rrlq.
Blemev Ll 6oTeol] u_|61$leu LIMUIEmedT FLeTUm() :

A:
div grcldV=V'2V= £
€

& o

divgradV = v2v

B: divgradV = v2v

§m|'°

divgradV = V2V =

8m|'°
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div grad V = V2V = e
&0

div grad V = V2V = e
)

D: e
divgradv=v?v =2
0 (Correct Alternative)

divgradV = viy=_P
&y

div B = 0 is one of the fundamental equations of :
div B =0 6T6dTLI &I 62(H Q& mMeTen s uilett 319 LiLiemL. FLeTum() :

A : Magnetic theory
&SMHSH C&TeTe0dH
B : Electrostatic theory
Blemev LAleoTeof 116y Q& T6iT60) &
C : Electromagnetic theory —(Correct Alternative)
Ll 6T SHMTHSHI W6V QST
D : Static theory
Blem6ulD Q& TETEn S

Born-Oppenheimer approximation is :
LITJ60T — e LIeTem MLy G&HTITWILDITETS

A : the sum of vibrational and rotational energies — (Correct Alternative)

T TemID LMMILD FHLPMT MMELSETIET Fal (h& O & Tem W ITELD

B : the difference between vibrational and rotational energies
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SHFeymid IMHMID FLOMHEF QWMHMVEEHEE @)enL Gl 2_6Tem ailg S W mEFDmE@ LD

C : the average of vibrational and rotational energies

SFFa|miId HID &PHE abmevserllsr &rmeflungld
D : the product of vibrational and rotational energies

SIGHFeymId LHMID SFHPMHE W HMEL&ETET QUBHHGSS QHTM&HWITEGLD
In electron spin resonance spectroscopy, the transition energy is given by :

6TV LMl HMELLMF 55 T6] Bimwmemnsvuwilwedlev, @ L LIQLIWITE| SL,MMEVTETS :

A : AE=2gBH
AE = 2gBH &4,& LD
B : AE =2gph
AE = 2gfh QL&D
C : AE = gBH — (Correct Alternative)
AE = gBH 94,&LD
D : AE = gph
AE = gBh Q,&LD
The polarizability ellipsoid of H,O may be expected to :
Bifledr (H,0 ) emellemereymm Hemeul L LD :

A : decrease in size while the bonds stretch — (Correct Alternative)

LNemevoriL] HEBHLD CLIMSI 2{6T6) (G6emmULD
B : increase in size while the bonds stretch

emevor iy HemBLD CLIMSH 3j6T6y 3 H&IflEE W0
C : remains same while the bonds stretch

Llemevor LI (HemLd GLIME LOMMTSI
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D : both decreases and increases in size while the bonds stretch

LN emevorLIL) [(HEBLL CLIMSI 6T6Y GemMULD LoMmilD HH &6 GLD

In symmetric top molecules the rotation about the top axis :
FIDEFT LNEVEHT MISHET, GLD6V FF QUTMIS S SLoID CLIMS :

A : produce a change in the polarizability

gerallemeralley IDMHMHMS JHLIHSSILD

: does not produce a change in the polarizability — (Correct Alternative)

gemallenerailey LDTHM&HENS FOLIHSSHTE!

: will have equal polarizability

FLngeralleneralits @) (H&E LD

: either produce a change in the polarizability or does not produce a change in the polarizability

serallenerellel LDMMM&H6MS FMHLIHNES SIDjev6ual FHerallenerallel LDMTMHMEHEM S
gOLUOSSMS!

Electric field strength of laser.used in stimulated Raman scattering is :
Sevor(h) TITLDET FIFHMemev 2 (Heumdh &L CeuaFifler WeiTLevd Q&6

A

104 V/em™!
104 Geurm / Q&.15.71

: 104 Vem'!

104 Geur. Q&.105."1

: 109 V/em™!

109 Geurm / Q&.15.7!

: 109 Vem™! — (Correct Alternative)

109 Geum.Q&.15."!
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The number of vibrationes frequencies that can be observed in H>O :

H,0 eLevEFa Ml gMHUBISSID 15 [ 66U 600T 5 61Tl 60T 6T600T600118560) 55
A

— (Correct Alternative)

D:

@
N AR W W NP

Thermal conductivity of bad conductor is measured by :

B M HLSHUN6T QUL &L 55 DM6OTIeTShT HE (LNemMUI6L SetordsS L LILGSmS! 2

A : Searls method
Flulreven (LNevIm
B : Lee disc method — (Correct Alternative)
eS-aul_(h (Wwemm
C : Collendar and Barne's method
@&H6V600TLIT LOMMILD LITG60T (Lnemm
D : Searls and Lee disc method
Gwiyerv LnMHMILD e§—aul () pemm
V-I characteristic of Schottky Diode is similar as :

VG TLG) (Schottky) emL_GUITH eem LW LAl 6T6oT (WD &G — LOl6oT GeorT ML L (V-I) LI600TL| &5 6iT
ereu @b emLGwim® &erflev eTeumBmm() &5 & 2_6Tems ?
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: PN Junction Diode — (Correct Alternative)

PN &55 en L Guim()

: Triode

LengGwim(h

: PNP Transistor

PNP L_ymedr&l 6L

: NPN Transistor

NPN L_Jmedt &lenvL i

Widemann-Frantz law holds good at :
el (HCLO6IT &L mesTen eSS\ meoTs

A

: ordinary temperatures — (Correct Alternative)

S IrenT Qallll Blemeauuilev

: very low temperatures

1% GenmbHs GeuliLl Blemevuilev

: high temperatures

2 W Qeuliu mlemeuuilev

: very high temperatures

W& 2 Wins eulil Blemevuilev

Blemevuilev QLN SESLILG LD :

According to Kronig Penny model, the width of the allowed energy bands increases with .
G&Brmevfld Quetren] LTS Flullev, DT EHSLIULL MHM6L UL emLgerflesr
3| &H6VLDITETS 185118 G1D.

A

decreasing energy
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2LMMEL GeOMU|D CUITS
B : increasing energy — (Correct Alternative)
2MM6L & FflEGD CUMS
C : constant energy
QMM LmNESWITs @ [He LD GUIMS
D : Zero energy
QL,MHM6L &WPIWIME @) (HEH G GUMSI

In Kronig Penny model, in one dimensional lattice, the energy discontinuties occur when wave number K
satisfies the condition :

&Grmenild Gueorent] LOMH flullev, e LIflLomeoor 2600118 G5 mem U6y, 6016V 6T600T600T 60T
(k) 6TH& BILIHSH6060TE (&, LMV QSTLIFFFRWMMSTH 2 (HeUMEGLD :

Aty
ma

o=
ma
By o
= 0
C: K:i
7a

.

g=
7a
D:gwie

9 — (Correct Alternative)




42

43

42

43

The electrical conductivity, in n-type semiconductor, can be written as :

n EUENS G &HLSFH U6, 6T &5 Hmeneot LIN6dTeu(HLOMMI 6T(LOSEVITLD :

A : o = engp, — (Correct Alternative)

G = enghly,
B: ene
Hn

A:viy=0
Vz‘q;:O
B: 2—?(E—V)u=0
k
2N E-V)y=0
k
C: v2y 2—?(E—V)d;=0
n
V2 - 2 E—V)y=0




2m

D: v+ D E-V)u=0
P

— (Correct Alternative)
v2y + %” E-V)u=0
h
The steady state form of the Schrodinger's wave equation is :
VI EHF B|eMEVE & LO6OTLITL 60T [Bl6m6VLDITMIT 6ULGEULD :

A Vzu(?) 4 (E—V)w(?) =0

n? — (Correct Alternative)
—
Vzu(r) + QL; (E—-V) q;(r) =0
h
B.@=%ﬁw4
ot 2m
.. OU A2 2 }
ot AP SRS,
a ot { 2m 'b,

“ Vzu(?) = 2ﬁl2 (@%@N@

v%(?) = Qﬁﬁ (E—-V) m(?)

D: 2m _ou , ov

~

s ox ay

m _ 8y, év

B2 ax E;

Relation between wave velocity and group velocity :

3|6m6eL PeMFCaIHSHTMGSLD G HenFCaHSHMGLD 2_6TaT QSTLITL] :




A
Vg:Vp-;-,\dﬂ

dA
dvp
vg=Vvp+ A 2P
g P an
B: VE= VB~ ) dvp
d\  _(Correct Alternative)
dvp
V Vv A —
oy {9 ax
C: da
V Vp+ ——
g=Vvp avp
Vo= Vi 4 d?\
SN | T
V A—=Vp
9= N
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Zero point energy of aliean harmonic, oscillator.f) & 2 Slipme
Erfleng Gmueunagggmm @uwmmlufledr &AL eTerfl QLMHMeL

A
—hy
2 - (Correct Alternative)
1
7™M

B: Eh
>
3
Zh
oM

C: 1 hy

2 27
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P | —

Rotational Kinetic energy in terms of angular momentum :

B&H 6T 2_[H&H & NG CQLTMIG S FLHMHEF @SS MHMEVITETS :

A p2

— (Correct Alternative)

Any vector that commutes with parity operator is called as :

616 62(H Blen6eVULD 3IF6T @TL el QFWedsHE& LUfllnmDoubGUImE eTeu el mm)
M &HS LMD ?




A : Linear vector
G flwev Blemev
B : Polar vector
@& mevoT ST HlemIey
C : Velocity vector
Gaus Blemev
D : Pseudo vector — (Correct Alternative)

Gumedl mlemev

Which of the following expression is correct to find the Coulomb energy per electron ?
GLD FevoTLeumMmlev FLOGTUM(H&H66V 6(IH 6TEVE: LT ITEDI &85 T6OT S 8YILD MM 6TIEV
&HTeooT LIS MG eTem6l Fifl 2

BTEO

— (Correct Alternative)

4;~|_
el
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Binding energy of nucleus is :

2|55 ([H LlemeuorLIL] QLMHMeV 6T6dTLIG :

A : By =[Zmp + (A - Z)m - my]
Ep = [Zmp + (A - Z)m,, - mp]
B: Ey = [ZmpC? + (A - Z)m, - m4]
Ep = [ZmpC? + (A Z)my, - m ]
C:E,= Cz[Zmp +(A-Z)m, - my]
Ey, = C2[Zmp + (A - Z)m,, - m 4}
D:Ey =[Zmp + (A - Z)m, C2- ma]

E, = [Zmp + (A - Z)m,, C*- 5]

— (Correct Alternative)

The following is the example of : N — P+5+:g.

n—>pt+e+y €6IM  Samm)
GOLTNGEDG 2

A : Alpha decay
QLT Flem s 6
B : Gamma decay

SITOT Fen 6
C: o, p and y decay

Bpsosn.  ans HHILES Hmgeme
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o, f LOHILD ¥ FenSey
D : Beta decay — (Correct Alternative)

LT fleng ey

Which one of the following process is an example nuclear fission ?

G L& 600TL Bl& D656V 6THS 51506 2163018 8 ([ L16T6)] Bl&L06) 8@ 2 &ITF6uorLD ?

A : The formation of helium from hydrogen

QDL TReTlel @BHS! aediwib 2 ([HeuTGg6

B : The formation of Ba and Kr from uranium — (Correct Alternative)

W Grenflw & H 6l (S Ba LDMMILD Kr 2_(H6UITE S 6V

C : The formation of lead from radium by radioactive decay
SHfWEs Flans e epevd Crlyw S5 60 @ HS STFWLD 2 ([HeUTEH S 60
D : The formation of water from hydrogen andsoxygen
QML 6T LMHDID &Rl EBHS! BT 2 HaTESe
In B (Beta) decay which‘particles are emitted alo_ng with electron.
B(LFLLIT) Blem&aledTGLIMSI 6TeV& L TTEIL_60T 2 LA LILI(BILD SIS&ETHET 6Temn6l ?

A : Proton and antineutrino — (Correct Alternative)
LG LITedT LDMMILD 34,6071 Blw, L iflGeorm
B : Proton and neutrino
HGmLLmedT oMb mluyl iflGeorm
C : Proton and sigma
LGImLLImedT LDMHMILD S\ &M
D : sigma and antineutrino

G G&I0M IDHMILD 6Tl BluLl flGeorm
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Which of the following statement is correct ?
LYledTeumeueTeumnlev ergl &iflwiment Samoy ?

A : In the nucleus protons only have an angular momentum

R(H 2G5 H6L L|GT ML LMTeT&6T L (H G0 & mentT 2 555611 QUMM [H& G0
B : In the nucleus neutrons only have an angular momentum

62(H 2|6018 5 [HeNl6L BIWLL JTeT& 6T L (H G0 &M 2_H&55 ML QUMM [(HEGLD
C : Neither protons nor neutrons have an angular momentum

6(IH &G [HEN6L LG ITLLTeoTSGaTIT Q6L6VS! [BIWLL_[TTedTe: 6T @85 meuor
2 HHHMSL QUOHMHESHTS
D : Each proton and each neutron in the nucleus has an angular momentum — (Correct Alternative)
R(H 2|05 5 ([HeNlED 2_6T6IT 6p6UG\eUTIH L|GIITL_LIT60T LOMMILD 661G 6UMTH HIW,LJITeniLd
G5 TettT 2_[h&HHem S L1 QLM M (H& G LD.

The GRAY code equiv_alént_tb binﬁry number (_l(fl)z 18"
enLIeorif] eT6v0T (1011), €& @& FLOLDTEOT (Gray €ode) HCTESHM(hH 6T6dT60T ?

A : (1110)g — (Correct Alternative)
(1110)g
B: (1010)g
(1010)g
C: (1001)g
(1001)g
D : (1000)g
(1000)g
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If the input V; = V,,, sinwt is given to an op-amp integrator the output Vg is :
QFWOUTL® WeTaUmEH U6 2 _arafLmersl V; =V, sinwt Q4G LOMTE0TITE) | & 60T
Qeueflui® v eTedTLIS

A A =Lvmsinmt
w
1 :
V, = s Vi Sinet
w
B: VOZLVm coswf )
RCw — (Correct Alternative)
V = _R(; Ve COswt
w
. —RC
C: V, = e V,,, coset
V, = =R Vy,, COoSwt
wr
D: V, = % Vip, Sinwt
V, = ﬁ Vip, Sinwt

An astable multivibrator is a :

(B BlemevwMHm LVpenm WeTe S e

A : Saw Tooth generator
FuLl Uev Wledr gl

B : Free running multivibrator — (Correct Alternative)
@uevms @M WeT SH el

C : Triggered multivibrator
L 60T SmevorL_LILIL L LSleoT oy&\ el
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D : Crystal Oscillator
L& gemeuulimn
The decimal equivalent of the binary number (1010 . 101), is :
(1010.101), 6T60TM @) (HLOLY. 6TEOOTED)600T & & LD 6T600TE00T & LOMMH IS :

A1 (11.625);,
(11.625)9
B : (10.500),
(10.500);¢
C: (9.625)9
(9.625)10
D : (10.625);¢ — (Correct Alternative)
(10.625)1¢

The feedback path is eceupied by a__(i)_ in the ana_log iggrator circuit while by a (ii), in the analog differentiator
circuit.

|6oTeVTE @)60TL_SHCTLLIfl6v Lettenrl L& smnilev (i) LD, 6oT6eVmds L9 LITeTFIG UL L fl6v
Nerenml_ L& &mmlev (i) LD @)\ (H& &G LD.

A : (1) capacitor
(i1) resistor — (Correct Alternative)

() WeTCH&HH

(i) Wl edTSH ML
B : (1) resistor

(i1) capacitor

(i) LOledTEH 60
(i) W 6OTBH &
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C : (i) high resistor
(i1) low resistor

(i) 2-Wiy WleT&HemL
(i) Genm WleTEHemL

D : (i) current source
(11) voltage source

(i) WOeTGeoTImL_L eLpeuLDd

(i) WOl6OTEOT(WD S S eLO6ULD
The type of register, in which we have access only to left most and right most flip flops is :
6THS LIHGaIL 196V, @)L &I LIS &He0)LF L0MMILD aUeVLILISS &HenL_F Blemevnmmnil&Hemner
SIS GWIGILD ?

A : parallel in/serial out register
@ eneoor 2 6T/ QST Geuerl LIS Ceulb
B : serial in/parallel out register
QSTLIT 2 6T / @ emenrGeler] LECaU0)
C : shift left and shift right register
QLLUUGS &FPMHF / eleul1U&HS &FPnHF LS Gau(h
D : serial in/serial out register — (Correct Alternative)

QGEITLT 2 6T/ QML Qeuerf] LFHCau

1 0 0
The diagonal matrix of the mafrix Ais |0 3 —1|is:
0 -1 3

1 00
0 3 —1|er6itm A SH6SITHLINGHT CLO6MBVETIL L {600 :
0 -1 3




'8/ papef

ﬁ‘m

ﬂ

— (Correct Alternative)

cow ocoow oow oowx oo« oo« oow 'oon
OCmMO OmMO ooNoOo OCONO OMO OMO ONO ONO
~00 T 00 mreR BB WO WSO mMo. ™00,

62

62
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I I
2

The value of Hsm dGJ

W

q I
G Hmiw Sror Frjenu LilaTu® SSHI Curg) _r\,-‘sine de | J‘I_e de
0 0 sin

-60T LOZLIL :

A : m— (Correct Alternative)

TP

C:2n
2n

D:JQ—17
N

The generating function of Hermite polynomials is
RQaMmIemLOL. LIGLIMILIL|S CHTene6us6rfler 2 Haums G QFuwevLIm@

Al flxy)=eZ 7
flx, y) = = -2
Bl fixy) = 2
fix,y) = &
C: 22 — 22

Cfixyl=e — (Correct Alternative)

de using Beta and Gamma function is :

L& LD.
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flxy) =627

D: f{X,Y)=eQD(+Zz

f{x, y) — eQZX +Z2

The unitary similar to a diagonal matrix is :

& ([H LMV L (600118 CHTEMEUE S R&S 2600( :

A : Hermitian matrix — (Correct Alternative)
Qe F LT LI6T =) evorf]

B : Diagonal matrix
eLnemeuadll L 9|evof]

C : Square matrix
FEIT 3| 6vof]

D : Null matrix

LLE2 Wl 2] 6v0f]

I ;1 \8
What is the value of j Iog[%] dy 2

0
] 18
QgTensIIL_6D J Iog[—] dy —66T eYlemL_ :
y
0
A S)
5!
B: 6!
6!




66

67

66

67

7!
D : 8! — (Correct Alternative)

8!
A cyclic group can be generated by a/an element.
) 2 MILIL] eP6ULD (B &FIPMHT GeM6l 2 (HEUTEHS (LPIGU|LD.

A : Singular — (Correct Alternative)
RJuloliy

B : Non-singular
RMDENM |6VEVITSH

C : Multiplicative
QUBEHSH

D : Inverse

HMVELD

If Iy, |y .... are the dirgsis@nmf@ imeducible: representafioniofia finite group of
order n then IZ + 1% g IE is equal fo :
o b o @@ CUEIIUMIGSIULL  Uflengd n @6 1DMIGS (LPlg LTS

NSRS GleusSleir Lflomsons QmbBETeD 12 +13 +...12, n -5& 65
FLOGT 2

A : n—(Correct Alternative)

n

B:Jﬁ
&
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Two groups G and G’, both of same order g, exists a unique one-to-one correspondence between their elements
are called

@ evor(h G6LVMhI&ET G LDMHMILD G, @G M flwimenr auiflend g 38 @) (HEGSLLELITS,
1&IenL W 2 ML &6erflev 6pedTCMIT(h R6TMI QGTLI LML WSTSH @) [HLILIST6L
6T60TMI D MPSE&HLILMGGH M) .

A : Homomorphic
GammwwmyLEés

B : Cayley theorem
Q&I GEHMHMID

C : Sub group
S160)600T eLO6VLA

D : Isomorphic — (Correct Alternative)

oGFmmyLI&

A homomorphism of a group G into the symmetric group on a set of X is known as a representation
of G on X.

FIG6VLD Q& MeuoTL &H600rlD X -8G5, L|60T6V FITTL|6DL6mLD Q&5 MetoTL G56VLlD G -60)L
UrS mle & sieuld erettmi 6mLpdasLILHILD.

A : Faithful

Frflwimeor
B : Reducible




70

71

70

71

LOTHO PIGHS
C : Irreducible
LTOHM WIGWITS

D : Permutational — (Correct Alternative)

&8 P9 bHS

The subset G={a + b«E/o, beQqQ, a? + b? =0} under usual multiplication of two
real numbers forms.

2 L gemilh G={a+by2/a,beQ c® +b”=0} a6 eupssLOTET Qo
2_GHOIEMLDILITEOT €T6001&H6M6UT GILI(THHSH6D 6)lg 6LLD.

A : Group — (Correct Alternative)
&6VlD

B : Not - group
&6V I|6L6V

C : Cyclic group
QULL& G6VLD

D : Semi group
G&MMEG6VLD

The frequency of small oscillations of a simple pendulum (mass 'm,") whose point of support of mass 'm;, moves
horizontally is :

'm,' — BleMG & TetT L, 5601l 26156V, 'm;' —BleMMG & TETTL. HTHIG, e 0L LSH 6V

B&HGLOLITLRS!, 2H60T F M 2]60)606) 56585 60T 2|6 61600T :

A =1 @ m
T oo VI mso
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In an Atwood's mac RIS JUFERREAERET RIS the other, find

the acceleration.

[/ L/




@@ SLe) sHaMTD, @@ QASMIGL BHlam WLHAMTHEDENL 4
LOL_ I SIHGLD 6T60TI60, G 60T (LY (B SHEHLD :

////

A % “ill |.||‘|.
%

% 90 pdal

2% eatlerm wrewasflar e SliHmg

e
9 _(Correct Alternative)

*%
D: 39/4
%
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For a particle moving in a central field :
eMLOWILI LJ6u&H 6V [h&H(HLD 62(H SIGFH6IT
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: the kinetic energy is a constant of motion

LOMMIT @UWESSEHLD Q& T600TL. QWSS 3L,MMe6V G5 MeuoTLSI

: the potential energy is velocity dependent

FNFCaISHSHMS CLITMIGS BleneVWITHMEL 68 mesor LGl

: the motion is confined in a plane — (Correct Alternative)

(H HEMHH 6L 2 6T CouHSHmS QLIMTMIS SIS

: the total energy is not conserved

CauilliLmm QLTSS S,MMEV G & Teor LS

A ball static on the head of a fountain belongs to equilibrium.

@ Bmmmler 2 FF uilev 2 66T HlemeuImenT LiTH S

A

FLOBl60I6V Q& TeOoTL_Sl.

Static

1Bl 606V & 55 60T60ILO

- Stable

LM&I&TLIL

: Dynamic — (Correct Alternative)

QUInkIG

: Unstable

LUM&ISTULMM

=

If a rigid body rotates about a fixed point with an angular velocity « and has an

-3
angular moment H , then ifs kinetfic energy is given by :
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W Gamem HeangGeuHE &L LD, H Gomemm 2 HHHHIL IO HleNeVILITEoT
Lenailenill 6nDILIDNG 60eudH& &GLOVID, @b HLUCUTHeMNsT QuIsSs
SHHEOGHT LG

. - -
A'T=w.H
- -
T=w.H
B: ol
T=l(w. ) .
2 — (Correct Alternative)
- -
T=l(w.H)
2
C: -
w
=l
H
—_—
w
b .
H sautlaurm
. - -
D:1-26.H
- =
T=2w . H

Gas-Liquid transition is called :
QUMW — S\JaU LDMMHMLD eTeoTLI S -

A : T order phase transition — (Correct Alternative)
Wws e alflens &L LQeuefl LDMHMmLD
B : II order phase transition

@ evorLITLD auflend &L LQeuer] LommmLn
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C : III order phase transition
eLpeTMTLD auiflemd &L LGeuerfl LommmLd
D : Not a phase transition
&L LQeuerl LOMMHMLD 26Tl
Fermi energy is inversely proportional to the mass of the particles and increases with particle density at power :

QUL @L,MMEL 6TEOTLIS 515 6T&H 6160 BlemM @ HMEVHLPMHELD LDMMILD 185618 61| 60T

IILTED 3560 555 DL MBI&TS @) ((HSHGLEUTS F&FSEH M.
A: S
3
3
3
B: 2
3 _ (Correct Alternative)
2
3
C: 1
3
1
3
D: 4
3
4
3

Which gas at absolute zero possesses energy and exert pressure ?

Feofl&a 10 @ummev Inmmild GQeleflliLGHILD 2WHSHHH 6V 2_6T6T UTU]
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A : Photon gas

GLITL_L_ITe0T 6UITL]
B : Electron gas — (Correct Alternative)

6TELESL_ITITEOT 6UITU
C : Oxygen gas

21,5 6rdl 26T 6w
D : Phonon gas

GLIITEOT 60T UL

Liouville's theorem in the phase space is defined as

&L L Qeuerfluflev eSGwimellsvedluilesr Gg5mmLD

A: dp
dt — (Correct Alternative)

._)0
— >0
+ .0

—— <)

I
'

6T60T QUENTWMISSILBH S
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In the low velocity limit, the lorentz transformation reduces to :

GSOMHSES CaldH S H 6V, UITT6TEN LDMHMEF FLOTUTH &6T eTeualld IDMTHME
FLOTUMHSETTES IDTOIHMS! ?

A : Galilean transformation — (Correct Alternative)
85601601 GLLIEtT & L060TLIT(H & 61T
B : Gauge transformation
&MY FLO6TLMT(H &H6T
C : Lorentz - Gauge transformation
GUITITEOTEN — &ITE & LO60TLIM(H 6T
D : Lorentz - velocity transformation
GUITJ 0TIV — Hlet & G615 & LDETLIT(H S 6T

In the Lorentz transformation, equation for x! is ;
6VITJ6OTEN LOMMHMIE &FLO6OTLIML 196V, x 1 61607 & 1067 LIML_19.60T 6Jl6m& 851D :

. v
A:a__ X+ t

1—V7
C2

€ —(Correct Alternative)
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The mathematical equations for the transformation of measures of spatial position and of time between two
observers A and B who are moving relative to one another with constant velocity 'v' is known as :

A L0MMILD B eTedT&Hl60TM @) T600T(H) 24, UIGUTETTSH6T HeU6MT RHeUT FMIHS! LDMMIT
FHenFGeussLD 'V' UJL6T HHHLD 6 LTS Blemewiysimerlen wuwjb, CHIHemg WL
Q|6MEHH G Fn QWL @)L LOTMHMSHH M & T60T & 6001 15 6U60 S & L0 60T LIITL_L 60)60T :

A : Galilean Transformation
569160 WL6T @)L LDmMHmLD

B : Transformation of light
eperfludledT @ L ommmLd

C : Lorentz Transformation — (Correct Alternative)
GUITITEOTEN @)L LOMMMLD

D : Space-time relation
Qeuefl-CHISH M mTeT Q&ML L

The change in energy produced by a given change in the rest mass is furnished by the famous relation.

LMMEO60T LDMMHMESHITEL 2_[HeUT&H S LILG LD Blemev Blemmuilesr IDmmHmLD L0 & mesi LD
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Q&TLIUMeL FFUSESIUGRMS

A Av=Ama?
A v =A ma?
B:Am=Aac?
Am=A ac?
C: AE = A mc?— (Correct Alternative)
A E =Amc?
D:AE=Amc?
AE=Amc?

The Lorentz transformation equation for time is :
GBS HGIT60T UITTE0TEN [HlemEVLOTM M &FLO60TLIM(H.:

A: -
e #
'| S—
J 42 —{(Correct Alternative)
- i
] - VAE

B:t=t-vx

84

t’=t—vx
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. T=vx
-

H—V/cﬁ
i = vx

+1+VZ2

The relativistic momentum of a single body of mass 'm' and velocity 'u' is

g

@@ Selltum@mailsit  Hleom ‘m' PHAID U HnF GaUSLOTHELD
A mSEGLGCUNTE| 315601 FTL 2 HELD ShGLD.

2 Y72
~(-£]

A:p=mu

;

p=mu
B:p=(m-+u)

p=(m+u)
C : p=vmu— (Correct Alternative)

p=vmu
D:p=m(v+u)

p=m(v+tu)
In an NMR spectra, the intensities of different signals tell us about :
NMR Blnwreneuuwiley, QeuecuGelm 6ngFen & &6rfleiT Q& M6 & 6T L0&E SaMieUS :

A : the relative number of protons of different kinds — (Correct Alternative)

Qeu6eUCGeuMI 6UEM&LIT6oT LG ITLLT60T8:6rfl60T 6T600T6001 1856018600 UL
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B : the electronic environment of each kind of proton

626U G6UMIH LG ML_LIT60T 61608 UIN60T 6T@6VEL_ITTE0T 18 @LD6m 6V
C : neighbouring protons

S| HS T U aVI6TeT LG ML L ITeiT&emerLl Lim
D : how many kinds of protons in different chemical environments

QeueuGeum GeuH uflwiev @ Lp6evaerIaIeTer LIGTITLLIT6T 6160)85856rfleoT
6T600T 6001 85 601 85 60) WL

& and t values are related by .
8 LOMMID 7 S SHEHEH 0L G 2_6TeT QG TL LTS G LD.

A : =10 -3 — (Correct Alternative)
t=10-9
B:t=10+o
t=10+29
C:t=6-10
t=06-10
D:1t=10%9
t=10+0

Which of the following protons will have maximum d value ?
B Q&M &S LILLLemeus6rflev d value Fon(hGH6VTSH 2_6T6T L|GIITL.LTET 615! ?

A : Methyl protons
QL& H 6L LG ITLLIT6OTSH 6T
B : Methylene protons
QU SH 66T LUGTTL L ITeT&H 6T

C : Methine protons — (Correct Alternative)
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15560607 LG ITLLTeoTS 6T
D : Methane protons
188G 60T L|GIITL_L_TE0TSH 6T
What is the vibrational frequency corresponding to a thermal energy of KT at 298 K ?
298 K -6V Qeulll QLmmev KT 6Tevfl6v, 2 H60T 2B T6) 25\ 7661600 6T60T60T ?

A162.11 x 1011 Hz — (Correct Alternative)
62.11 x 101! Hz
B:62.11x 1010 Hz
62.11 x 1010 Hz
C:62.11 x 107 Hz
62.11 x 10° Hz
D:62.11 x 108 Hz
62.11 x 10® Hz

The process of losing of excess energy of protons are referred as :

LG L Lmeorgserfletr Wlemas Qpmmev @oLiLlemenr :

A : Luminescence
BleorQmerfl &6
B : Emission
sperfl 2 1AL G 6L
C : Excitation
24,MM6V &IT600T L6V

D : Relaxation — (Correct Alternative)
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66 DI SH6V

From Maxwell's thermodynamic relation E—S -

GLo&ervGleuedleir GleuliLl @L1%Hs &FLOGTLIML Lq 60T Cl&TL UGS E—s =
¥

< | —

— (Correct Alternative)

aQ
< = 2=

D:2.5
2.5

According to quantum theory of paramagnetism :
LTI &MTHS G6uUmevorL LD Q& meTensuileorLly. :

A : only certain permitted orientations of electronic orbits is allowed — (Correct Alternative)
GSOILLILL enHHEHLILIL L 6TQEVE LI &MmILILITeNS SMF &6 L HiGL
2D &HSEILOH DS

B : any orientation of electronic orbits is allowed
6TH S 6(H TQ6VEL_TITET S+ MILILITENG FLOMEF HemaTl LD eI TE&H 6T Sl

C : orientation of electronic orbits is not considered

6TQ6LEL_JITEOT SrMMIL] LIMem & U 6T &0 M) & 61T &600T8:H6V O & maTerLLI(h)6uHevemney
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D : neither only certain permitted orientations of electronic orbits is allowed nor any orientation of electronic
orbits is allowed

GSOUILL oS Es5LLLL TQ6VE LT &HMILILIMNS &LpMmE &6T L (HGLD
IDHEELILGHMSILD 21606V 6THS R(H 6TEIVEL_TITET & MHMILILITENS
FLOMHF HemeT LD 2 6BILDF&HH OTMSID {606V

In Ferromagnets, excitations propagate through the system of spin in a wave like form are called :
QUIGTT &MHSHL QUTerfley, &PME epevlnmds HerTiF&F LFLILLUGLEUTS
2 _(HeUMGLD 3eM6vaUIUSH MG 6T60T {6MLP&H S LILIILD.

A : Photons
GuUITL_L_medr

B : Phonons
@LITeoT meoT

C : Magnons — (Correct Alternative)
@LD&>60TT60T

D : Gluons

& @6 TedT

—
Which theory explains the fwo conditions E =0 and B = 0, characterising the

superconducting state but it does not give any insight info the underlying
electronic processes in superconductors 2

g QameTens, &S GGID HeneosniLl E=0 WOMID B = 0 ¢T6u
U UGS, eMenddl, ueumed &L §HNeYIeT 6TCleL&L TTsiTS6rl6o
@ULI5E &6, 6X161T&HSH61116D6M6V.

A : London's theory — (Correct Alternative)
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6U6D0TL_60T Q18 TEIT6m &
B : BCS theory
BCS Q& MeTen &
C : Cooper's theory
FaLILIT Q& TeT60)5H
D : All the options are correct
eMeTHSILD FrflGw
According to BCS theory, the paired electrons can maintain their coupled motion upto certain distance called :

BCS Q& matendHulled[mh S, @ ememoTlmm eTQeva L TmerseT GMILUILL STy GLLb
QUWITFRWenL_FReTmerr. @ H& @ TL L @ UIGHSEHSH 6T QETamavallm G 6TeoT M
@uwlJ.

A : Paired length
@) emevore) Herin
B : Coherence length — (Correct Alternative)
62 ([H M1 & 60)L06Y TH6TLD
C : Mono length
@menm Herid
D : Magnon length
GLDE 60T 60T [HemLD
In scattering theory, Green's function is given by :
A mev C&IMLLIMLLY6V, S 60T &ITLIGVEDT :

A:g (.I', r) =exp (Ikll’— rll )

G (Ir, r) = exp (Ik|r— rll )




’
exp |r— r|

ST

G (r r') - =P |r— ,‘|

r—r
G (r. r') =exp |r— r'l

G (r. r') =exp |r— r'l

D: g
G (r r') _ exp (ik|r— r |)
Ir—r |’ — (Correct Alternative)
G (r r') _ exp (ile J,h 'h‘T.
' Ir £
o1 o7 The Dirac equation for a free particle is : ﬁ
&L_19606V & SIG&6rfleoT 1T eoTL

ealtlarm wremaaflar e Blismng,
A (E—c 3.p)¢=0
(E —ca. p)di =0

B: - 2\ =
E-ca.p—-pmcc|t=0
( %.B—R ) — (Correct Alternative)

(E—c:.p—amcz)¢=0
C:(E-pmcd)y=0

(E—ﬁmcz)\p=0
D:(p-pme?)y=0




(p-Ppme)y=0
The change in energy levels of an atom when it is placed in a uniform external magnetic field is :

LIM&THSLI LIS H 6V 6emeudhSLILRMOUTWE!, R0 s ell6ir &LMHmev 0L L LD DM MmLD
Sl6mL_ULD B1& pedledr QU :

98 98

A : Magnetostriction effect
HMHS & ([HE&SH ellen6Tey
B : Photoelectric effect
sperfl Lleor elemermey
C : Stark effect
LTS elemerey]
D : Zeeman effect — (Correct Alternative)

e31060T elemreTey

Parity operator p is deﬁn;ad i}y the felation 2
GUEM T LIEMTLILY, @ 6menorLIL] @& W6l p Wedr@ &ML L] :

99 99

A : py = y(- 1) — (Correct Alternative)
py =y(-1)

B:py=y(1)
py =y(r)

C:py=0
py=0

D:py=1
py =1

100 100
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According fo Fermi's Golden rule T= % |Hm"|" p(m) the transition probability per

unit time is :
~QuipBuflsir  GamedLer el QUIMIGS T=%|Hm1m|2,,(m) e
Q®HEHTED cRIELHMSITET LOTMIS 6D MBS HEUMCITH)] :

A : Proportional to the density of final states — (Correct Alternative)
FHen L Blenev W6t 9L IE5H &G CHISH a6V

B : Proportional to the density of initial state
T BlemevuleT LTS5 6 CHISSHaI60

C : Proportional to the petrturbation state
SO0 Blen6evEE& CBITH& e 60

D : Inversely proportional to density

LTSHEHE THITHHEN6V | J(r)

Spectra of monoenergeticx-fays oﬁe; shows two;:oeags in proportional counters. This is due to :
GBI QSTLITL eTevorevnr|uilev @ revor(h 2_F&FLD @Memm 3LMHM6L x &F) T5s6rfl6oT
BIMLDTENEVEHET 965 STLHIHMSI. @) & 6TSH 60T &5ITJ600T I 6T ?

A : escape of fluorescent radiation — (Correct Alternative)
Weflisev & refdFs ellhu®B H6v

B : Auger electrons
2,& T 6T6VLE L_ITT60T

C : Raman scattering
@ TTL6T F1FHMmev

D : Compton scattering
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SO L 6T FHmev
Natural Uranium consists of :
@umend W,GreoflLD Q& mTevor(h 6TemS)! :

A1 99.28% of U233 and 0.72% U238
99.28% U235 GLosyILD 0.72% U238
B 1 95.28% of U233 and 5.72% U238
95.28% U235 GLogyILd 5.72% U238
C 1 90% of U235 and 10% U238
90% U233 GLosild 10% U238
D : 99.28% of U238 and 0.72% U?35 - (Correct Alternative)
99.28% U238 GLogyild 0.72% U2

The function of moderator in a nuclear reactor 1s to :

3|55 ([H 2_6mev&arfleu &L HILILIMSH& e 6T Caleneu :

A : Slow down the fission neutrons — (Correct Alternative)
3|gILIL56meY BIWLL_ [T TeoTa 6 160T GoUdH 560G &6 ME S 6V
B : Absorb the neutrons
B, LT TETEHM6T 2 L 56U &6V
C : Slow down the protons
LG mL L meor&erfletr Gaussgems Gemm &6V
D : Absorb gamma radiation
SMTNMES SH THN6T 2 L SalTSH60

The rest mass of proton is nearly equal to two thousand times that of :




LG ML Lmeof16dT e@Ule] Blemm S LSS L @revorL_muiJLd DL _MBIE 615 s6m LI 6Te0L &G
FLOLDMGSLD ?

A : Neutron
51 W, L [T ITedT
B : Photon

GurL_Lrreor
C : Electron — (Correct Alternative)

6TEVE L_[JIT60T
D : Deuteron
19 Wb, L [T rTeor
105 105 R -
Choose the comect answer to matfch the following :
(a) Photo electrons (i) Linear accelerators
(b)  Recoil electrons i)+ Comption effect
(c) Beta particles (1Y Photo'eléctric effect

(d)  Mega voltage %e&]m%" &v) 8- radibacliVe decay
(Netreu(meusuteumenm QUIT(HE&|eusm @ &fiumsr efisnLsniu Q& fley Q&1Ls :

[a)  epe eTeL&LImedn () &5 BEEH
(b)  LeiTeusni_e 1GIEL&L 6T SH6M (i)  SMDLUL 6T el6neney
(c) BT &&6nger (i)  cpeMibleir alenerney

(d) Quosm GCeumedL TRV T6iTH6IT (iv) g~ &Hfl&Es 2 BID6)

A : (a)(i1), (b)~(1), (c)-(ii1), (d)~(iv)
(a)-(ii), (b)-(1), (¢)-(iii), (d)-(iv)

B : (a)-(ii1), (b)-(i1), (c)-(iv), (d)-(i) — (Correct Alternative)
(a)-(ii1), (b)-(ii), (c)-(iv), (d)-(i)
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C: (a)(iv), (b)-(iii), (c)-(1), (d)-(ii)
(a)-(iv), (b)(iii), (c)-(1), (d)-(ii)
D : (a)(1), (b)-(iv), (¢)(ii), (d)-(iii)
(a)-(i), (b)-(iv), (¢)-(ii), (d)-(iii)
The load extended immediate L x I instruction of 8085 microprocessor :
8085 mlevor Q& Wedludletr Geum(h) 6T&6NVG L6oorL L @LOLSIQUIL L x I 6T60TERILD &1L 6M6rT :

A : Places the 16-bit data into the register in one step — (Correct Alternative)
@CT Lemauulev 16 LN syemeu LIS aluileb emeuliLig
B : Places the 8 bit data into the register in one step
GCT LUl 8L Sremeu LUK aluflev emeuliLS!
C : Places the 16 bit data into the register in two steps
@ revor(h SLemaUWNS 16 LI syemeu LG edlulleuemeuliLi gl
D : Places the 32 bit data into the register in two steps

@ revor(h) SLemauwlTs 32 9L Hyemad LIHeflulev emeuliLi g

A rectangular waveguide of cros;—_s_e_ction_ Scmx 2 c;n is used _to propagate TM | mode at 9 GHz. Calculate the
cut-off wavelength

5cmx2cm GMIGG Gl (h Q&ML 0 F6Uas 3emev auPllILIHSH 68 Q& mevor(h
TM;; UMHISI6L 9 GHz 2j6m6u LITLIL] fMLIL_L M6V, 25601 letTGaUL_(H 2lemev HeT&Hems s

& 60015 5 () &.

A:17.86 cm
17.86 cm

B:67x102m

6.7x 102 m
C: 3.714 cm — (Correct Alternative)
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3.714 cm
D:19.6 cm
19.6 cm

Which of the following is not a basic addressing mode in 8085 microprocessor ?
8085 e GBI TLCTMTEFIflev L& 600TL 678 QLILI6ML L THIM GLOML @ 6vemev ?

A : Register addressing
LS| alleumFLD
B : Direct addressing
GBI elleum&Ld
C : Data-bus addressing — (Correct Alternative)
S&H6U60 — CUIBHS! edlevmaLd
D : Register indirect addressing
U e TR aflevmsin

is a linear antenfawithia length less than % -

CTGTLIG) HENEUNS b 60CIL60TIT T6TMENLPSHLILIBEUGH] UG 60T [HemDd

A
3 5© GEOMDEUTEITE).

A : Short dipole — (Correct Alternative)

GG G\ LPEm 60T
B : Short Monopole

GOEW R W6
C : Half-wave dipole

|60 T 6016V @) (H(LN6DI60T
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D : Quarter-wave monopole
&HIT6V—{6M6V 6(H (LDED) 60T
The memories, input device, output device and interfacing devices are called :

G ilLILmeTSH 6T, 2_6aTefL_(h s&@medl, Qeueflufl® s@medl LnHmILD 2 6T @ emevorLiL] &Hed
AFE UMMM — 6TETM D 6MPGHEEVITLD :

A : Peripherals — (Correct Alternative)
QuflQuev&er

B : Program counter
5176V 6T600T600T ]

C : Monitor
& oot LI LI LI medT

D : Processor

QFWeELTEHES

The main methods of maintaming discipline in the ¢lass given by "Macmann" are :
UGLILN6L RWEHSHST e LITTLON&HE 'IDME G LDEOTTEV' 6ULOMHBISLILIL L (L& 60TemLD
LLEMMEETITEUS!

A : Competition, Emancipation and Transformation
GUMLLY, el (H)\&6m6v LDMHMILD SETeMLD LOMMHMLD
B : Repression, Impression and Emancipation — (Correct Alternative)

SILEG P, 2 erje] LFley wHoib el H\&emey

C : Impression, Repression and Suppression

2 60T 6y LIS6Y, SIL&HGSLenm LoMmILD 62(H& & (LMD

D : Emancipation, Supression and Competition
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NBHBe06V, OGN D LMHMILD GUITL LY
Association results between two experiences which take place together is called :

QRETMITEH HEOL QLMD @) T6vor(h 3 DLIAIMISHEHSH S @)6nL_UN6vTeor QST [TL] (LDLY.6 86T
@6UaUmTm 360 P&ELILIGHTMSI :

A : Vividness
(LPE6OTLIL|60) L_6D) LD
B : Contiguity
QS MTLIBlemev
C : Frequency

EQEAGL) AR
D : Similarity — (Correct Alternative)

"e(HEUT H60TSI @ LL6MEY (LD (HEMLDWITS STeslid GLIME! 0L (HGLD LINT&F & 6016078 & 60T
FGrellemeot 2 L& MTLEG) elpev Y 2er G156 (LPLGWLLD" 6TedT 6T(H S SIMTLILIS! ¢

A : Structuralist
SlemUINweveuTH
B : Gestatist — (Correct Alternative)
(WS TLS Camlurml(Beurms
C : Functionalist
QFWELLIMTLLQ U1V 6UITH
D : Behaviourist

BHLSHenSUNweveurs)
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Whose contribution to explore the individual experiences and perspectives of people held special significance for
personality assessment ?

WITHEm LI LIMIGerflLIL], &60fIWITeT Q| 6LI6UMIG6T LDMMILD L& &6rfledr
& 600T G600TITL_ L6158 60)61T 24,16 Q& 15 6016T epeuld 2@menln DS LT L asES F\mHs
WERWS UGS QUG SHSS ?

A : Sigmund Freud
&g 1nevor L STl

B : Henry Murray — (Correct Alternative)
Qamerml Wer

C : Gordon Allport
SITIL60T QLeVELUT L

D : Herman Rorschach

@amFLneT GIITI&F s

is the need to_e);pe;i_en;:; ¢hoice and contral inwhat we do and how we do it.
6TEOTLIS! BT LA 6T60T60T Q& LIS MmN, eT6u6eUTm Q&F WIS GMITLD 6T6dT LIS 6V

G IemeUUD SLGLLMTL_MLULD aUPBIGRMS.

A : Self-worth
& — DS

B : Self-schemas
W —evH Lo

C : Self-determination — (Correct Alternative)
&+ LI [B] [J600T WILD

D : Self-esteem

Swwrflumemns
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Which one of the following is not the external determinants of attention ?
LI 6076 (1H 61 60T6U D MIGT 6T & 61 60TE P 60T G 6uerflLILm BlFevorwid 606V ?

A : Intensity
SaflyLd

B : Isolation
SeoflemLILImQ)

C : Drives — (Correct Alternative)
@WISTG6T

D : Repetition
SHHOLUF SIS

The 'Contract Plan’ of individual _tt_“a_!.iﬁi;g is the synthesis of :

Seoflwimer LUIHFIUIN6L '@ LGS F L LD" 6T6dT LIS 6FDnem M & 6rfledt Q& MG LIL] L GLD.

A : Winnetka Method and Dalton Plan
N 6TGeuTL & IT (PEM IOMMILD LT 60T S LD
B : Project Method and Winnetka Method
Q&FWeLWenM S L LD InmmiLd eledTGeoTL ST (LRemM
C : Dalton Method and Heuristic Method — (Correct Alternative)
L_IT6VL_63T (LN6?M LOMMILD &600T LN &6V (e m
D : Winnetka Plan and Heuristic Method
6l6T GeuT LG5 IT (LN6mM LOMHMILD &600T LM 6V (LM M

Forgetting caused by activties intervening between the original learning and the test of retention has been termed
as:

3|F6V HMHMEV LDHMILD HEGHemalllL] CFMEHemersh @ @emLulley Hemeuul{HILD QFUIC)SETTE
gHU@ LD MG eTeualmm P &SELILGSMS :
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A : Motivated inhibition

2 HSISHV SHEDL

B : Retroactive inhibition
L9 60T 60T T8 85 8 & 60 L

C : Retrospective inhibition
FWUICFTHem60T 560

D : Proactive inhibition — (Correct Alternative)
(6T CEOTTEHSHS S0

Choose the correct stages of creative process indicated by Wallas.
aumeven GMILILI L HIeTeT LiemLLILUMmHmev Q&Fwevwnenmulled Fifluwlmer Blenevd&seners
G 6 Q&FIS%.

A : Preparation, Incubation, Illumination and Verification— (Correct Alternative)
QWS GSLD QFUIGHE, LDTHIEV 2| FSLMHIG, 2_6TQl6Tmer] G&medTmIgS 6L LoMHmILD
CFMHSHMH60

B : Preparation, Insight, Incubation and Verification
QUWSSHID QFUIH6, 2 L &STLF gmLIL6Y, LDETH 6L HenFCUITHIEG6L LoMMILD
CFTHSHMIH6v

C : Preparation, illumination, Incubation and Evaluation
SWSHHLD QF IS, 2 6TGETTeN G MeiTmIZH eV, LDETH6) emFCUTHIFH6V LDMHMILD
LS H&6V
D : Preparation, Insight, Evaluation and Incubation
WSS QF UGS, 2 ST ghuL6v, DHLILNHS6L LMHoILD 6T Hev
M FCUM(HG6

A small elevation on the tongue, visible to the naked eye, containing up to several hundred taste buds is called :
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LI6v BTMI &-6m6d QDML (HE606Td QS mMeuoT(H6TerT, & 60018 Eh &% @ QS erfleumH s
Q& WS, BTSSR &meoor LB LD @ Pl LPSLDLIL|SET 6TeueU T
SMWPSHHLILGRTMSI :

A : Gustatory Papilla — (Correct Alternative)
Femel 2_600T[T6) 2| [HLOLY
B : Chemoreceptor Cell
CouHlw 2_coorjell GlFe6L
C : Umami
2 1omd
D : Proprioception
2| 60)F 61| & 60) 61T LL| 600T [] &6V
The first psychology lal;)rato_ry was established by :
(PG6L 2_6TellW6L QhLUI6ISLID WML 2 (HeUTHSBLILILL & ?

A : J.B. Watson
Gg.L9. eurmL_getr
B : William James
eflevedlwith GgaLbeny
C : William Wundt — (Correct Alternative)
adl6LedlwiLh oeresorL
D : Sigmund Freud
FHEILD6voTL. SUITTUI()
If the child is a boy, he feels jealous of father which is the condition called :

R ([H 3L600T GLHENS, H60TEl FHHemG W6 GLO6L QLUITMITENLD Q&ITETEHLD 2_600T [J6UT6OTS,
6T UMM HMPSHELILIGIRMS!
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A : Oedipus Complex — (Correct Alternative)

L LI &S0
B : Ego Complex
FG&HIT F1&HFH6V
C : Electra Complex
TLS LT Fl &6V
D : Responsive Complex

SI6VMHIFH6V F & 560

Guilford does not measured creative ability of an individual through :
F6LSCUITTL @) 5 60T eLAGLLOITS &6oflIBLIfletT LismL_LILImHmensv SjemadlL_ailsuemev :

A : Elaboration — (Correct Alternative)

aflflauuG S5
B : Fluency -
i sautlaurm
FrerLd
C : Flexibility
QB&EILLe)
D : Sensitivity

2_600T [j @) 60T

Match List - | with List - Il and select the correct answer using the codes given below the lists :

List - 1
(a) Omission training (1)
(b) Punishment (2)
(c) Negative Reinforcement (3)
(d) Positive Reinforcement (4)

List- 1l
Application of undesirable stimulus
Removal of undesirable stimulus
Removal of desirable stimulus
Application of desirable stimulus
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ULigied 2 L6 Uligwed-n  Quimssand wmmib ulueibe SGCu
Qan@sau’Geren sdhuns GOIE smend CoiHAOsHES6LD :

UL g Wwied ~1 UL IgWwied -1
(a)  el(Bal&HgHed L& (1) eNmUSHSHeNS Saanb&eo LsLn®
(b)  &6BOTL GG (2) NBHIUSHHENG SH0HSHEN60 HEHMHMIGHED

(@  aHfeD uILLLED (3) BLUSSGHS SIS HGHDISHED
(d)  Grijosm eugiaplLed (4) eNl@hLUSHGHS SNen(hse0ls LsTum®

A (a)(1), (b)-(2), (c)~(3), (d)-(4)
(a)(1), (b)-(2), (€)-(3), (d)-(4)
B : (a)~(2), (b)~(1), ()-(3), (d)~4)
(@)~(2), (b)-(1), ()-3), (d)-(4)
C: (a)-(3), (b)-(1), (c)2), (d)-(4) — (Correct Al tiv
(@)-~(3), (b)-(1), ()~(2), (d)-(4) 5 @ @ﬁ]
D : (a)-(4), (b)-(3), (c)- 2&@0(1@@
(a)-(4), (b)-(3), ()~(2), (d)~(1)
A False perception is called :
R (D HOUMITET L|6V6TTHITLF @ eueumml SenpsiaLlIUbBSHmS

A : Illusion
S flyssTL &

B : Hallucination — (Correct Alternative)
@ LQLIMTIHET &HITL &

C : Halo Effect
sperfleul_L eflemerey
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D : Horn Effect
Q&ML ellemerTe

According to psychoanalytic theory, the store house of unconscious instincts is :
2 eTUEGLUTUE, CETLUMLemLLI QUTHESSLOL 196V, Heoralled Blemev 2 6iTEnevor el eor
CxafllY efLme: Sjemneals :

A : Ego
FFG&IT
B : Id — (Correct Alternative)
QL
C : Superego
G&GLUUT FC&IT
D : Id and ego
QL LommILD FFESIT

Who conducted one of the.first studiés on memory, usifg himself as a subject ?

F60Tem6oTGU U6 S5G - LUMNSS 'blemere] GMISHS (LG ev U6 6meor
GLMQ & Tevor L6l WIT ?

A : Drever Ross
.feuy Gumeru

B : Ebbinghaus — (Correct Alternative)
erledras 600

C : Robert Gagne
TTUrL C&H&Geur

D : WoodsWorth
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2 LevGeuls
Intelligence Quotient was developed by :
" 51 600T600T M1 6] FFEY WITITITEL ©_(HeUTE&SLILIL LGl ?

A : William Stern — (Correct Alternative)
al6LedIWILD eV [FedT
B : Lewis Terman
Gevaleny G FGILDEdT
C : Stanford Binet
6L eoTGUITL LNQeorL_
D : Wechsler
QeueFF

The book "The nature of Ihteiligc:lic-e and the principles,of.cognition” was written by :
' (51 600T600T ()] 611 63T & 60T6m L0 LDMMILD | WIQUTHMEY G ETETEN HGHET" 6T60TM L| 5SS &HHM 5
TR WIS :

A : Robert Sternberg
TTLL eVLeTQUIT&
B : Leon Thurston

69 GuumedT SFervGL medT
C : Edward Thorndike

6TLGUITL & MTe00T60L &
D : Charles Spearman — (Correct Alternative)
FITI6V6L 6ruLI W QLD 6T

Taking other person's achievement as one's own' is called :
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LNors gjemLallener ST emLa] CUITE eT(hSHS QS MeTeuS! 6T6)eumm
MWL EHILG P TMSI :

A : Identification — (Correct Alternative)
Q|60 WIITETLD 85T &6V

B : Rationalisation
LGSSSM6] 26nL&60

C : Seclusion
G60flemLDWITE &IMeoor L1L1(H &6V

D : Regression

L9l 60T60TEM L_6)| &5 TSI &5 6V

The first effort to identify_gif’t;c_l children were started in USA by :

L5 6T Q185 TE00TL (55L0H60)SH & 60)6IT 3] 60) L LI ITEIT LG IT600T LI & M &5 T60T (D& 6L (LW MG
QW &&ETaNleL WMV QSITL HBISLILIL L.l

A : W.T. Harris — (Correct, Alternative)
W.T. @ iflerv

B : Samuel Kirk
FmBeusy K5

C : Delamater Lahey
QLeLTGLLL euGam

D : W.S. Grolnick
W.S. GCImevpl&

A neutral stimulus became a conditioned stimulus as a result of consistent pairing with the unconditioned stimulus
is referred as a :

@ BH\Blem6vWIMTeoT &mevorL_eL &L HLILGSSLILLITS ST6e0oTL_gVIL 60T QS TLTFFILIMTS
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@)\ e 6uoT 1L S 60T eflememeumss SLQLILBSSLILIL L ST600TL6VITE IDMTmIaIS! :

A : natural reflex
@WMHenNs el Fens
B : unconditional reflex
SLOLUUBSSILLTS i 6oflFens
C : neutral reflex
BHIBlen6V 36l Fend
D : conditional reflex — (Correct Alternative)
SLOUUOSSUILLL jeflFeans
Bandura suggested that alth_ough envitonment causes behaviour, behaviour causes environment as well, called as :

G5LP6V [FL G605 5 G SHITTE0ITLONS @\ (BHHSTEILD, HL- SN & [HMIEF L6016V UILD
gOHUB SSIRMSI eredTm LisoorGImedl et LKflbHSienr erelelTm enn&HSLILOSMmS :

A : Conditional reflex
B L H & 60) 6018 (G LM ol & 600 &
B : Reciprocal determinism — (Correct Alternative)
LIFeNLIIT 1517 600T WILD
C : Retrospective determinism
LT GeoTmd &I W [B] [ 600T WLILD
D : Radical behaviorism
Sy BLSMFHEUMSHLIN
The importance of motivation and reciprocity was brought out in the learning theories by :
2615 &6 S &6V LDMMILD LFeruLITSHE 60T (LNEP WS SIeugemnd QeueflliLG &SI SMHmey
GHTLUM@® WITFMeL QUPMBISLILIL LS :




A : Skinner — (Correct Alternative)
6 &) OT6uT [T
B : Bruner
Liemeor [y
C : Kohler
C&mamevry
D : Piaget
HwmrGs

135|135 Which technique reveals the patient's unconscious to the psychoanalyst ?

Gmmwimerfluledr meoreleSlemi 2 emelluieumen(H& @& GeuefLILBR &SN HIL LD wWirs ?

A : Free Association Test
SLOUUTLMM ©)60600r&H S0 C& M5 6m60T
B : Systematic Desensitization
(LPE® UL 60T 2_600T F& 5
C : Dream Analysis — (Correct Alternative)
&H60T6) LIGLILIMUIG)
D : Aversion Therapy
QaumiliL PR FensF

136 1136 If a person is both hungry and sleepy at the same time then arises :

Q@ HUT G CHIHH 6L LFIL|LDILD. &MEHSHSSILILD @) (BHSTEV, L6 eT(DouS :

A : approach - avoidance conflict

2| 0IG &6V — 1 6VE&H6V (LNIT60oTLIM(H)

B : approach - approach conflict — (Correct Alternative)
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2| €S S 6V — G S6V (LPTesoTUIMTH
C : avoidance - avoidance conflict

&S 6L — ellevE &6v (L Tevor LM
D : acceptance - avoidance conflict

gmhmev —alleu@ g6V (LNIF6ooT LM

The tasks that have some connection to real-life problems and situation that the students will face outside the
classroom :

QUG LILME G QaueflGU LDTETTeU TS 6T 6TH TR STETEHLD H183 6UTLDE M & & &585608561HL_60T
Flov QBITLITLSH6M6TE G\85T600T L LI600T |1 &6 :

A : Academic tasks
&evadl L16oof]

B : Task completion
Lieoot] Blemmey

C : Authentic tasks — (Correct Alternative)
2_6U0TEMLO LI600T

D : Task performance

L1evof] G\ & Ul6vLS) medT

A defense mechanism in which threatening unconscious impulses are channeled into socially acceptable forms of
behaviour :

Q@@ SMHSMLIL 2 5H Uiy, 9158 m15 I Heorall6dl GMevor_eV8s6T &Fends FH WM
JHMIEE & TeTeNSH Gl Ul HL&6MS 6L MBISETTS LDMMMLILIH S 6dTmeo :

A : Repression

L &G WO

B : Regression
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LY etreoTemL_6)]
C : Sublimation — (Correct Alternative)
LDEMLLOMMHMLD
D : Displacement
@LUQuUWIFR
Individual's global judgements of their own life satisfaction is called :

FeofIBLII 60T HMHIG6T UMD &HMS HHLS) GMSS 2 svaermallul SiLIL&H6T 6TeueUmml
P HELILOSHMS :

A : Mental Well-being
LD6OT[H6VLD
B : Psychological Well-being
2 _emallWiey FITJ [HEVLD
C : Objective Well-being
LjmeuUlWl BHevLD
D : Subjective Well-being — (Correct Alternative)
& 6UW [HeVLD
Which is the primary motive for human behaviour, according to Adler ?
9L 6vif160T FammILILIL, L060(1& HL Hem&SHUI 60T (NS 6TenLD GHTEHELD WM ?

A : Striving for Superiority — (Correct Alternative)
GLOGITEDLNE BT (LD 6DIGTSH 6V

B : Problem Solving
N ygFaenerenl S5 560

C : Decision Making




Siey gHUBSS SV
D : Skill Learning
Hmeir &Mmmey
In Big temple of Thanjavur the sikara is called as

FErFmey,T Quiflu Gamelledlsv 2_6Ter FS&FLD 6T60TMI MPEELILRSH MSI.

141 141

A : Dakshina Meru — (Correct Alternative)
&L Gevor GLO(H

B : Gopuram
G& YLD

C : Devakoshta
CHeUBHITAY L MG 6T

D : Mahamandapam

LO& TLD600TL_LILD

Paiyampalli is situated in ~ district:
emLIWwLbLI6iTerf] LOMeUL L SH 6V 600 [H S 6T

142 142

A : Cuddalore

ST
B : Vellore — (Correct Alternative)

Geuguriy
C : Thoothukudy

SNS5SHEG1.
D : Pudukkollai

L&SI&HCSHTL 60




143 (143 Who is bridge of Council of Ministers and the Governor ?

MWFFT GellMHGSLD EBHIHSH G @)L Cul B)6m6voTLlL] LIMEVLDMS ST Wmy ?

A : The Chief Secretary
(LS ETEMLD QFWIVTETIT

B : Principal Secretary to the Chief Minister
(WHVMLDFF 60T (NG 6T QFWIEVTETIT

C : The Chief Minister — (Correct Alternative)
(PSHVMNDFFT

D : The Secretary to the Governor
21,@B B 60T Q& WIEVTENT [}

Which is a small mountai;l réu;g_e _l_c;cét;d in Namakkal district ?

BITDEH6) LDMeUL_ L& H6L 3I6mLobSI6Tem 62(H F\NIul LNV SHRSTLIT 6TS! ?

144 144

A : Servarayan
G&FJeuT Ul 60T
B : Rathinamalai hill
QUG HeoT LoEM6U
C : Kolli hills — (Correct Alternative)
Q&MeLE0ILDEM6Y
D : Kalvarayan
856V [T T LWL 60T

145 /145 Matters of Discretion' is a :

'Matters of Discretion' 6T60TLIZI 62([H :




A : Novel
QBrHMH&HNS
B : Autobiography — (Correct Alternative)
HWEfleng
C : Book
LSS
D : Poetry
sHalleng

146|146 Dronacharya award was instituted in the year

SICTmeroTTETFWIT e[S gqgﬂgpasuu@g,g,uul_l_ 21,600T(H)

A : 1955
1955
B: 1975
1975
C : 1985 — (Correct Alternative)
1985
D: 1995
1995

147 147 Which one district with prominent forest cover in Tamil Nadu ?

SADBTLIL6 NP &HE HMTH &S (LITLILIETE]) Gl&TeuoTL LOMeUL_L LD 618 ?

A : Coimbatore

CaMWIDLSSTT
B : Erode




FFGI T
C : The Nilgiris

Beu& ]
D : Dharmapuri — (Correct Alternative)
syl
Cell used to operate mobile phone is a :
QLomemLIeL GUmeTserley LiweTUMSSLILIG D LWl6Ts6uLD ¢

148 148

A : Primary cell
(DS 6eTemLD LYl 6oTEH VLD
B : Daniel cell
GLeoflwe6L LWletTaH6vLD
C : Secondary cell — (Correct Alternative)
Slemevor LAl60TS6VL0
D : dry cell
2_aij WleT&H6uLD

149 149 Which is not the tributary of cauvery River ?

6Tl Smelliflumm M 6dT &6 6uoT WITmI @) 6V6em6D 2

A : Noyyal
QBTUIWLIEY
B : Amaravathi
3|7 TS
C : Bhavani
L6 o]




D : Cheyyar — (Correct Alternative)

Q&FWIWwImm

150 150 The blood vessels that carry blood away from the heart is called

@5W5S5HBHE @QUs5sH5mS QeuaflCW erhHSIF QFLaD QISS BTeTmi&Eer

6Te0T M eMLPSSLILIHILD.

A : Veins
Flemn et

B : Arteries — (Correct Alternative)
&L060f1 & 6T

C : Capillaries
B SIG &6l

D : Lymphatic Vessels

Bleoor B GSLOMUIS6T




